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Guess Paper – 2010
Class – X
                             Subject: Mathematics

  
    
Subject -Time : 3 Hours

GENERAL INSRTUCTIONS:-
(i) The question paper consists of 30 questions divided into four sections– A, B, C and D. Section A comprises of ten questions of 1 mark each, Section B comprises of five questions of 2 marks each, Section C comprises of ten questions of 3 marks each, and Section D comprises of five questions of 6 marks each
SECTION – A

1.  If 49.123456789 is expressed in the form
[image: image28.png]


, what can you say about the prime factors of q ?

2. [image: image1.wmf]q

p

In fig. 1, 
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ABC~
[image: image3.wmf]D

PQR. Find the length of PR.

3. [image: image24.png]Give an example of each of the polynomials p(x), g(x), q(x) and r(x) which satisfies the division lemma p(x) = g(x)∙q(x) + r(x) and deg p(x)=deg q(x).
4. The difference between two numbers is 36 and one number is four times the other. Form a pair of linear equations for this problem.
5. If the sum of first n terms of an A.P. is n2 + n, find the nth term.
6. In fig. 2, AQ, AR and BC are tangents to the circle at Q, R and P respectively. If AR = 8 cm, find the perimeter of 
[image: image4.wmf]D

ABC.

7. Evaluate : 
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8. A rectangular piece of paper 40 cm × 22 cm is rolled to form a hollow cylinder 40 cm high. Find the radius of this cylinder.
9. A die is rolled. What is the probability of getting a number divisible by 5?
10. What measure of central tendency is represented by the abscissa of the point where the less than and more than ogives intersect each other?
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SECTION – B
11. Prove that : 
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12. In fig. 3, TP and TQ are tangents to the circle with centre O.

If 
[image: image7.wmf]Ð

TOQ = 50°, find 
[image: image8.wmf]Ð

OTP.
13. Solve for x : 
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OR
Find the value of k so that the equation 
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 has repeated roots.

14. Show that the points (2, −2), (−2, 1) and (5, 2) when joined together form a right angled triangle. 
15. Varun tosses two coins simultaneously. What is the probability that he gets
(a) at least one tail

(b) at most two heads.
SECTION – C

16. Prove that 
[image: image11.wmf]5
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is an irrational number.

OR

There is a circular path around a spots field. Vipul takes 18 minutes to go once round the field, Rahul takes 24 minutes and Annu takes 36 minutes for the same. Suppose they start at the same point at 10 a.m. and go in the same direction, at what time will they meet again at the starting point?
17. Prove that the sum of the squares of the diagonals of a parallelogram is equal to the sum of the square of its sides.
18. Find a point on the x-axis which is equidistant from the points (−2, 5) and (2, −3). Hence find the area of the triangle formed by these points.
19. Determine the ratio in which the line 
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divides the line segment joining the points (1, 3) and (2, 7).
20. Show graphically that the pair of equations 
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has no solution.
21. Without using tables, evaluate :
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OR

Prove that:
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22. Find the sum of all 2-digit numbers which are divisible by 9.
23. Draw a 
[image: image16.wmf]D

ABC in which AB = 5 cm, BC = 6 cm and AC = 4 cm. Draw 
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AB’C’ similar to 
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ABC such that AB : AB’ = 4 : 3. Also write steps of construction.

24. Find the roots of the equation :  
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25. A farmer connects a pipe of internal diameter 25 cm from a canal into a cylindrical tank in his field which is 12 m in diameter and 2.5 m deep. If water flows in the pipe at the rate of 3.6 km/h. In how much time will the tank be filled? 
OR

A spherical glass vessel has a cylindrical neck 7 cm long and 4 cm in diameter. The diameter of the spherical part is 21 cm. Find the quantity of water it can hold. 
         [ Use 
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SECTION – D
26. A building is in the form of a cylinder surmounted by a hemispherical dome. The internal diameter of the building is equal to 
[image: image21.wmf]3

2

of the total height of the building. Find the height of the building if it contains 
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OR
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A cylindrical bucket, 32 cm high and base radius 18 cm, is filled with sand. This bucket is emptied on the ground and a conical heap of sand is formed. If the height of the conical heap is 24 cm, find the radius and slant height of the heap.
27. Prove that the tangent at any point of a circle is perpendicular to the radius through the point of contact.
Using the above, do the following :

In the given figure, O is the centre of the two concentric circles. AB is a chord of the larger circle touching the smaller circle at C. Prove that AC = BC.
28. A farmer wishes to grow 250 m2 rectangular vegetable garden. He has with him only 45 m long barbed wire, so he fences three sides of the garden and the fourth side of the garden is fenced by compound wall of his house. What are the possible dimensions of his garden?
OR
In a class test, the sum of Shefali’s marks in Mathematics and English is 30. Had she got 2 marks more in Mathematics and 3 marks less in English, the product of the marks would have been 210. Find her marks in the two subjects.

29. From a point on the ground 60 m away from the foot of a building, the angles of elevation of the top of the building and the top of the water tank fixed at the top of the building are respectively 30° and 45°. Given that 
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(a) Height of the building.

(b) Depth of the water tank.
30. If the median of the distribution given below is 28.5, find the values of x and y :
	Class Interval
	0 - 10
	10 - 20
	20 - 30
	30 - 40
	40 - 50
	50 - 60
	Total

	frequency
	5
	x
	20
	15
	y
	5
	60
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